(3=#&- )BOYO R &5 = R|:F 5 &P ¥
%’?6—4 FNgr g\

i L i 4 B
- CERBE AL £ 104 SRR ERAS X364
( M. 37 v ~Fzdk 5" —1=2 3= 1. RPRAR P * > F RN F
B4 RT e sFeht MG R? EFFR T xHBEEELLI2B A E B
(DT >z >0 @p >7 >¢ AT ET] SRR
@z >p>" @® >p>z) g: ( ) 3
( )2. KT vz ~FA -k B x3=0 2= 2. * AfcpEgy NG
A9 Bl? v sAent [ BGRLSR? ZAEVREL L F y oL RS T
(D" >z >/ @p >z >" 20 9( PRSP
@z >p>" @" >pF > ) 3. & F#Ec slhES
( )3, F T182Ix[], & #kd £ 2 iz # > [] F ko 24 27576 -
R T S T Y £
(D2 @5 B6 @8) 4. RIEZ NN E N L fREE
(D4 ®EE= 62 EE Yy B RAELY TR E Ry A B LT T200 5 1A
B ? PR AL (* Al Ak
(@ 180— x @ (180— x ) x2 & A
@ (180—x )32 @ 180:2—x ) & |5 ABHAB-C-D-EchE%-®3F H5 i
()b F - Bz e v ehi e v L AL = oA ¥
X 2o dok BT Ay o TNARIE RS 1471 o B
BV e T g RS ? A ] 1%
(Dx +2 @2x —2 5 5 ;
@10Cxy —2)+x D10y +(x —2) )
A B: C
D E




Iee 32

I ’*k( ) O I
BacimmagE £ B o7 PR aiE &

) 2T e
2.

2.
¥ S LSRR L DY

B ifr st hz B EL RS H3f FoF
S RA22 0 A Bet Bt xmo B ARG 340 2o F 4
L9 Tiad A #r( ) oo
I ~PERH I EHEE6LS £ 184
. £ & FHN0 o4& i
x x38+19=50
3. 3B A FE2BLE S g4t 9 B
TG FEFBBL D

2. KT H BN [N A& el

([]+3) x4=236

4. %

EadAat®mI  F 1Tardd g 27

N
7N =

RN

25 B BFT 1324 BT R

3. T\T\i;@;;\.\:‘l:‘mrfg\ﬁj&

T7x ([J—6) =231




